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Group — A 
— §G1161 

Answer all questions serially. 

gnsaGQ Q191g. gq9 g@ta "Izt t 

1. Write the correct answer choosing from the 

t 	alternatives given in each question : 	
1x15=15 

g64;49 gq661 gQ@ 	
CI N Q43161-1  

GQqi : 
(a) Which of the following is associated with 

micro-economics ? 

§cflcc oki6,69416' Q44 E16910 Q2 	? 

(i) Theory of income, output and 

employment 

atz, 4s1c:11Q (3 	gq 

(ii) Theory of economic growth 

32:10- 9 El§;& gq 

(iii) Theory of consumer behaviour 

61UG4yQIg161 gq-0 gq 

(iv) Theory of general price level 

(211616161 216Q1V11 QQ Qq 

(b) In economics, price means : 

at&itgGQ 

(i) Value in use 

Q4Q216W 9,514 
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(ii) Utility 

gocsaiQgi 

(iii) Exchange value of a commodity in 

terms of money - 

c 'I Z119161GQ S'Q461 	9.G14 

(iv) Amount of other commodities in 
exchange of a commodity 

66114 SC19 ,*cisaGG) ziGN s,Q461 cgIctio 

(c) What is the value of elasticity of demand if 
quantity demanded of a commodity is 10 

units at price 5 and quantity demanded is 

9 units at price 6 ? 

Q61 5 61Q1 4Q16Q69 2Q 11Q 91Q161 476141161 

10 1cQ 49° Q6
.
6 6'0 EgIGQ69 9I2QI61 4:16141161 

9 '1Q Z4, GgGQ QI2QIQ 	 G9G9 ? 

(i) 1 

(ii) 2 

1 
(iii) —2  

(iv) none of the above 

gcl -Qq9 0-161cNi 
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(d) Opportunity cost is : 

"9. 9i 616)94Q 	: 

expenditure incurred in available 

opportunity 
UCIGA WG6t 9Q101Q2F1 9401, 

(ii) income foregone in the next best 

alternative use 
061961 C101941 	gssatoci Qt9 @IQ 

pain and sacrifice undergone by the 

producer 
Q41199916)1 	Qvgi raqol (3 94161 

expenses of a producer 

gqiQGNQigiQ 
(e) When marginal revenue is less than average 

revenue, what happens to average revenue? 

GC1696969 CliclIR aura 216112161 zusaola 941, 

216412161 eila 9'0 Gq1Q2.114 ? 

(i) falls 
glcil 

(ii) rises 

' 
(iii) remains constant 

c;)G2 
(iv) none of the above 

UO616n1%9 GQ-10CY'  4 62 
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(f) Which of the following is a feature of 
monopolistic competition ? 

c-14.N.  694-61 91491619,99 062111Q161 

6~ 014 ? 

(i) one seller 
1941ig 

(ii) product differentiation 
6'461\G@Q19610 

(iii) restriction in entry 
g6g1G61 96'9611 

(iv) single price 
99 96) 

(

g) The reward obtained exclusively for entrepre-
neurial function is called : 
6999 QGQ91g1Q61 9161991U ad" -iRej.Q1 0106919R. 

a21CZIK : 

(i) gross profit 
6016' ClIg 

(ii) normal profit 
cii191W QIG1 

(iii) abnormal profit 
acil4g16'Q QIQ 

(iv) none of the above 

61C16I6V GO-10 V.0 
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(iii) 6809 crore 

6809 6QI 1  

(iv) t 7353 crore 

7353 6Q1' VQ1 

Net value-added at market price is : 

Q9162 QGGQ 	Cl°621161Q 95) 11 G2 Q1 : 

(i) 

(I) Value of output — Intermediate 
consumption + Consumption of fixed 
capital 

QQ1Q62 41QL1 — aWd1 g4169161 + gICA1 CJ AG 

QC:16QQ 

(ii) Value of output — Intermediate 
consumption — Consumption of fixed 
capital 

QQ1Q61 42514 - aWd1 QOGQ161 — glra1 cfiG 

QC:16QQ 

(iii) Value of output + Intermediate 
consumption — Consumption of fixed 
capital 

aqiQQ 	+ aRi1 @ciegig - orai gOIQ 

QC:16QQ 

(iv) none of the above 

Qci -1q_9 WioUi 
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(h) Which of the following is not the element of 

gross interest ? 
cma GQO Goiv sip' Q01QIG' 6 ? 

reward for risk taking 

01Q611 

(ii) net interest 

Nis qe,I 

(iii) reward for inconvenience 

elciP6199 01Q0I 

(iv) rent 

ZleIM 

What is Gross National Product at factor cost 
if Gross National Product at market price is 

6,501 crore, indirect tax is 580 crore and 

subsidy is 272 crore ? 

C1-1  991Q Q9661 64116' 916'161 gcliQ 6,501 66,'1 1  

6'g1, CIGQ10 QQ 580 66;I 1  6IG°1 4Q° C1QQ1611 

C1212Q1 272 GQI1 	 QQIQ9 QiiraGG 60161  

91Q10, QqIQ GQG9 ? 

(i) t 6193 crore 

6193 GQP GQI 

(ii) 5649 crore 

5649 G91t qgi 
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(m) 
(k) Which of the following is a part of National 

income ? 

6Q0 9 igio, azo 49 a°Q ? 

(i) old age pension 

Q14'9 11 991 

(ii) income tax 

?,11Q99 

(iii) compensation of employees 

cakoe 

(iv) income from lottery 

@sci -c;yit ?lira 

(I) 	Which of the following is not a function of the 
Commercial Banks ? 

G9a" Q01 119 Q41Q°019Q°9 91214 

? 

(i) acceptance of deposits 

9911 ge 

(ii) advancing of loans 

61 1 gQIG) 

(iii) issue of notes 

GQ161, gQ99 

(iv) creation of credit 

Q114 
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What is the compulsory contribution called 
which is levied in proportion to the special 
benefit received from the government ? 

graQi@Goi%NeQi 06t1E1 Qjpen gig F.111969 e.1161 

9611019qQ1 QR.1919,99 	9'61 a21014 ? 

(i) licence fee 

QI9GC219,Q1 trq 
(ii) tax 

(iii) fee 

Crszi 
(iv) special assessment 

sipa 

(n) Which type of budget creates inflation ? 
eQd gQIG) 969g, Q9 Q11 -0 92019-90a14 ? 

(i) Deficit budget 
"ftlklal Q6961, 

(ii) Surplus budget 
Q99I QG9q 

(iii) Capital budget 
qty Q6961, 

(iv) Balanced budget 
(ZIN.Q Q6961, 
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(o) Which of the following is included in non-plan 
expenditure ? 

cmq 690 E1eGZ11991 QtiraQ F.Iq4g ? 

(i) expenditure on economic services 
Elle:191N GCRIGQ Qilfa 

(ii) expenditure on social and community 
services 
ca141lQ9 (3 G611q1 Gc2191G9 

(iii) subsidy 
(21QQ1Q1 Q910,91 

(iv) grants-in-aid to States 

91911c1pq, 

2. Examine the correctness of the following 
statements. Correct them, if necessary, without 
changing the portions underlined : 1 x15=15 

61;63:Q;QG QIOQQ1 4]Q1531 QQ I al1Q0 119 SidGQ, 

G66119 3°0161 4:161Qd9 Q Q". ), 666P9 <21°G0169 Q9 : 

All economic goods are  Capital. 

qicra aelffN QQ4  4 6 

If price of a good is expected to rise in near 
future, people will buy  more of it. 

210 GQIN Q9461 QQ "9-99 Q".10 11QGQ a G2QI61  

Q4 lQQ1 21N, GQGQ GQ1901G9  Ele.LQ 901  

QQGQ I 
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Perfectly elastic demand curve is  vertical. 

cald 	gcacz G211a121M I 

(d) Under  perfect competition there is no 
distinction between firm and industry. 

c:10 Ossal19I6G aq19 (3 -& 41 1G9 G616111 016911  

Q all I 

(e) The technical relation between quantities of 
factor inputs and amount of output is known  

as cost function. 

QQ10Q9 <211699:00&1161 (3 Qq1-<19 QQ1161 C6Jc1161  

MAN aQI 66l& cao6q4:1&ilek  479Q WON I 

(f) Average variable cost curve looks like a  
rectangular hyperbola. 

V16)1 1Q 4761Q61 4]09 11Z1 QQGQ4`11 	ElIC491919  

CI9IQQZ Q1R1 QQ15 019 c  I 

(g) The difference between total revenue and  

total cost is called  net interest. 

soic,  ara 	6c119 4761Q4e10 F1g9 Cfca 	qe., 

IN   

(h) Real wage  increases with rise in prices. 

QIQQ 	QQ 	c219 	aclam  
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(o) Current account deposits cannot be  
withdrawn before the expiry of the stipulated 

time period. 

6'9-  9016 , - 1(g)9 WO, q610 cA Q010 9 -31'  

910 I 

Group- B 
61 *- 6'G1161 

3. Answer any eleven of the following questions 
within two to .three sentences in each case : 

2x11.22 

gG9Q G0 9.,GG1  20N. 	QIQ 4  4RIG9  641 1 1Q 

gq4119q 61 1(2 GaGg0Q 46116161 g6161 	: 

(a) What are the central problems of an 
economy ? 

G9R101, Q0C1416P9 9'0 ? 

(b) What do you mean by 'public goods' ? 

coe s,94' X641 ZGO 9'0 Q ? 

What is National wealth ? 

916'1a QPQ 9'0 ? 

What is money cost ? 

sc-fiN CIIQ4fa 9'0 ? 

What is oligopoly ? 

aw149161 9'0? 
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(i) Consumption of fixed capital is a part of Net 

National Product. 

Qt§i9 QCIGQI61 	9191Ca QQIQ9 	3°0 I 

(j) Gross National Product is equal to Gross  
Domestic Product, when net factor income  
from abroad is negative. 

GSZIGQGQ66' I. GQ01619 61  Q1169 not  Gleic19 	 

GQIGgGQ69 6c1161  9I91k7, QqQ Goe 06919 Qq_IQ 

Q09 Q19119  

(k) Unemployment allowance received from the  
government is an example of transfer income. 

cZ199161q01% 61q0 99211Q2,1Q1 GQ911 QG)I a1qQ0 

3109 	QQI290 I 

(I) 	State Bank of India is the lender of last  

resort. 

Q161910, GciC's  Q4IG: X1 61 C16110,6) c 	QIQI  

(m) Price is an administrative revenue. 

Q61 	 6119c1 I 

(n) Expenditure on an irrigation project is an  
example of  capital expenditure. 

99621W 419? Q,Ifa g Q4et61 	QQI2610 I 
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(f) What is the relation between Average cost 
and Marginal cost ? 

21611910 E16161461, (3 611411g C1616' 11k1 41 1661 (Z19t9 

9'0 ? 

What is monopoly profit ? 

49Q1E11 QLIQqlra @IQ 9'0? 

What do you mean by net exports ? 

ogo 	qco 9'0 Q ? 

What is personal income ? 

Q466619 ElIQ 9'0 ? 

What is macroeconomics ? 

W-4 a2.191 9'0 ? 

What is meant by 'circular flow of income' ? 

tiaQ WO, gQ12'61 ae] 9'0 ? 

What is public finance ? 

Qva 161 9'e ? 

What are the general utility functions of the 
Commercial Banks ? 

Q4lq096) Q1R.1l6l1 61CI6SZA9141,99 

91611Q91 9'0? 

(n) What is non-develqpmental expenditure ? 

ae61grA4'9,99 61110, 9'0? 
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4. 	Distinguish between any six of the following. Limit 
your answer to six sentences in each case : 

3x6=18 

cw.12 6o6010 -caa*cRiGg a121 1 Q4ia I gsgiQ 

65Eig661 2061 QQ61 6E/061946Q 	61 Ql 316149 : 

(a) Intermediate goods and Final goods 

E1gi1 SVIi Fi§ci gQL1 

(b) Change in demand and Change in quantity 
demanded 

91-0QIQ 4761Q6i9 (3 910Q1 461411 1661c:1061614' 

(c) Fixed cost and Variable cost 

c:16) 06)Q5a (3 4:161Q4311 061Q4Q 

(d) Market price and Normal price 

Q9IQ.Q9 (3 qIQI6'9 Q6) 

(e) Nominal G D P and Real GDP 

GOIV GOIN EJ6QI@ 4sl6IIQ (3 6c116' QIQQ CIGQI@ 

4Q161  

(f) Money and Near money 

9R1 	-6- 961  4-121 

(g) Normal profit and Abnormal profit 

qiigi",9 @IQ (3 aq1Q1 -<19 @IQ 

(h) Balanced budget and Unbalanced budget 

sa41q.61 Q6961, (3 E14741aGI Q6961, 
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1. 

Group- C 

- - 161 

Answer any four of the following questions : 
7.5x4=30 

gipiQQ° cx.Q esa0161. 91G61I61 @@6) 	: 

5. 	Describe the characteristics of human wants. 
• 

919Q101a E19196) 6WRi46PQ 9491 99 I 

6. Explain the law of Diminishing marginal utility. 
11S'IQ919 Q1411 4s14]6211091 	9416141 99 I 

7. Explain the law of Variable proportions. 
E61961 EITZII9 Q 9416141 90 I 

8. Explain the Ricardian theory of rent. 
,Q916d1Q° a6.J.GD4 94i) 9414;141 QG 

9. Discuss the Keynesian theory of income 
determination. 

699,QIQ° aisa Nicm 9fi) aisQ1991 99 I 

10. Describe the functions of money. 

92IG 9Id41991 949 961 I 
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SECTION - B 
(As per 2011-2013 Syllabi) 

Carefully follow the instructions given in each Group. 

geGge &/G760 gQ6-i EIF6woo .ape 	OW P6? I 
The figures in the right-hand margin indicate marks. 

ofi§57 0/d P/0661 PC26? Ve 6goa 

Group - A 

9 — -"G)161 

Answer all questions serially. 
6Vc1q61e61 Q41g. gqG 61619 

Write the correct answer choosing from the 
alternatives given in each question : 	1x15= 15 
gGQ49 gqs9 gQ@ Qg4119° 41 12 Clo9616296' 6'I ~ 

66161 : 

(a) Utility means : 
@CIG211g91 X121 : 

(i) Usefulness of a commodity 
R946) 4s147IG6'Q91 

(ii) Pleasure derived from a commodity 
2Q4ik N461 21196' 

(iii) Want satisfying capacity of a commodity 
4s'946) E1GI9 COO 9- 1. 91G fac191 

(iv) Money value of a commodity 
2946i Go-1N 9.94 
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(b) Which of the following is wealth ? 

1416' 	GQ6—Gi' QMQ ? 

Good health 

990 qIi1 11 

(ii) A five-rupee note 

qieo o1361‘;211 6919, 

(iii) Matriculation certificate  

611 JR6@s219 QII6'EPGQG,  

(iv) Wrist watch 

21961 

(c) Which of the following is an example of 
conventional necessaries ? 

" ,c.Aq.9 ci c GQ0 C19091619 3941Qt1 1196) 

9Q1W61 ? 

(i) A good house 

99c1 Q1C161V 

(ii) Expenditure on marriage 

old 6140 
(iii) Electric fan 

gui 

(iv) Book for a student 

aig 6114 4 ,gt9  

(d) If quantity demanded of a good rises by 20 
per cent due to a fall in its price by 40 per 
cent, elasticity of demand is : 

CZI 	6'116) Q9 40 gkig 'IQ WQ1 sal 91V19 
91W6) C19411020 gNi9 	91kya Q%lowl 

(I) 2 

1 
(ii) 

2 
(iii) 1 

(iv) 0 

( i ) 

(e) What is the shape of a total fixed cost curve? 
G4'119 Q6) 41 -66'46; 66161161 31919 	? 

(i) Upward sloping 

949101 

(ii) Downward sloping 

Ncitoi 

(iii) Horizontal 

alaQN 

(iv) Vertical 

Wag, 
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If a seller sells 10 units, 20 units and 30 units 
at a price of 10 per unit, what will happen 
to average revenue (AR) and marginal 
revenue (MR) ? 
CZIO 96616991 10 6'q1 Q616910, 20 G 	19Q 

961, G9GQ 216)I2161 no, (3 91clIg ena 

G2Q ? 

(i) will remain constant 

(ii) will increase 
EleP 

(iii) will decrease 
219 alcie 

(iv) none of the above 
GICI1- %9 GOle -P 

Price prevailing in very short period is 
called : 

qi919661 	 : 

Normal price 
ciligiW Q0 
Market price 
Q916) Q9 

(iii) Ideal price 
alQ4 Q9 

(iv) Stable price 
k161 Q9 

(f) 

(g) 
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(h) Which of the following is not a feature of 
monopoly ? 

Nkg 	G6;
40 1Q 1 4919G) GWIVI V.0  ? 

(i) One seller 

19c11g Gggi 

(ii) Many buyers 

giV4;196,' G291  

(iii) Free entry 

MI6 g69' 1 

(iv) Absence of close substitutable goods 

9-CV 10900  Svig 

(i) Money wage remaining constant, if price level 
decreases, what happens to real wage ? 

61, Z1-0 	g,9 X 19 OM, QlgQ 
cli"(;) Q'0 	? 

(i) I ncreases 

(ii) Decreases 
1(Z1 C111 

(iii) Remains unchanged 
acgIQ-14; GGV 

(iv) None of the above 
goNw 	as0" 

Economics (Arts/Sc.)(Set-A)  21 
	

P.T.O. 
. 717 R/717 E/ 717 DE 



(j) If GDP at market price is t 10,000 crore, net 
factor income from abroad is 500 crore and 
consumption of fixed capital is t 2,000 crore, 
Net National Product at market price is : 

99I9 Q6166) GOIV CIGQIQ 61c:11Q 10,000 
6'GQQ1619 QII6Q am 500 G9g1 GVI (3, QV 

ci,§o QCIGQI61 2,000 691 1  6'Q*1 R4, 69GQ 

9191Z ggIQ G29 : 

7,500 crore 

7,500 GQ1 1 61 Q1 

(ii) 8,500 crore 

8,500 66'1 6' 

(iii) 12,500 crore 
12,500 GQ1 1 61 Q1 

(iv) 13,500 crore 
13,500 691 1 610 

(k) Which of the following is not concerned with 
macroeconomics ? 
§cAiqg cmq, 690 Q1914 a216'16' C19 Cl°,4% 

V.0 ? 

(i) Aggregate employment 
(211'pGCA199 

(ii) National income 
9191Q ElIQ 
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(iii) General pri6e level 
cille116161 961 QC) 

(iv) Determination of price of a factor 
49 gle.1961QG 4''I961 

Which of the following is not a function of the 
Commercial Banks ? 
N -Giqp miq 	90§119 Q41W119Q'61 

? 

(i) Acceptance of deposits 
901 W61 

(ii) Giving loans to the general public 
<NCQ1lei161dq. 6161 gQI9 

(iii) Control of credit 
G161 §laqo 

(iv) Discounting the bills of exchange 
cisv aQq6141sa9 

(m) Which of the following banks in India is the 
lender of last resort ? 
416)966) 4' 1616' 941W119Q' 414.16 sQdV a§ci 
odtiikAG) 610 QI91 ? 

(i) State Bank of India 

Q1991Q 646: 9 111G' 

(ii) Central Bank of India 
GC1§1G1 Q 11Q° act @dai 
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(iii) Reserve Bank of India 
QI9910, 616'4y1 Q414m 

(iv) Central Cooperative Bank 
69S1ra cilc1Q1Ca 941Q' 

(n) Which of the following is a source of revenue 
of the Government of India ? 

cRici.  690 Q19Q CI9919q 211ra9 	? 

(i) Income tax 
El10,99 

(ii) Customs duty 
Q101 

(iii) Service tax 
GQQI 961 

(iv) All of the above 
Qq31 -c161'IQ QIC14 

(o) Which of the following is included in capital 
expenditure ? 
NW mit.  690 QtiZt9 E184g ? 

(i) Salary of a government employee 
Q199191 9c191611Q GQQ9 

(ii) Interest paid on government debt 
99916Q 	4s1O69 ,01014,121Q1 qa 

(iii) Expenditure on national highways 
9191k7, awe] Old Qqa 

(iv) Government grants 
Q199191 3aQI9 

Examine the correctness of the following 
statements. Correct them, if necessary, without 
changing the portions underlined : 1x15.15 

4,lqgg 96 099 Q -69e1 09101 99 1 3190'19 c169, 
G616119 E1° -19 C1619&' 9 9 -6, sciGIN Q°6Qa9 961 : 

(a) Principle of exclusion applies to public goods. 

61 1 QQ4 Old Q"*U90 	Og94  1 

(b) Downward sloping demand curve indicates  
direct relation between price and quantity 
demanded. 

\c)611c11 91'N'l &Ail Q9 (3 91 -N,1 o61F1161 04.1G61 ERI  
g9110 sZ10461 CL991 -01  

(c) Demand for a good having alternative uses  
is relatively inelastic. 

QNVIG 	99 119 91QQ1 aGOGIR9 
".t-fillO9 

(d) Value of a commodity expressed in terms of 
money is called wealth. 

cipti cjEl 211916169 	96/196G19121R.C109 
1 
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U) 

(e) Expenditure incurred by a firm on raw- 

materials is an example of fixed cost. 

C:1 - 119 9191 QEMIGI 014 Q91019qQ1 	4x19 

C1991-1a9X19 991290  

Under perfect competition, marginal revenue  

is less than average revenue. 

06Z161QI661 Ig Z11Z1 2191216 airaolq,  941 I 

Only reproducible goods have normal price. 

699' cpagqiwocisvii9 	99 am  I 

Wage is a residual income. 

	aQGVEiiCIQ Ewa I 

Imputed rent of entrepreneur's own building  

is a part of net profit. 

@GQ4igiq9 	G,1y61 DiG9119 E1eJG1i9 	G1199  

19 ?IQ  

Gross Domestic Product is equal to Gross  

National Product when net factor income from  

abroad is negative. 

6O696969 069g619 	QIeJQ EllZk 901919 	 

6C1696969 Gc •0691Q 9c4 .19 Goe 9191Q 9C119 

fl-*9 Qc119 V4  

(k) At the equilibrium level of income aggregate 

demand is equal to aggregate supply
. 

fl 	Ewa g6)60 ciiciN9IWIflIc-SQ 601910 Cf09 
Qicii9 

( I) National Bank for Agriculture and Rural 

Development (NABARD) is the Central Bank 
of our country. 

9191sa 01 (3 gioti 990,9 941Q (9191) GW1 310  

GQD9 GQR1Q 941Q° 

(m) Public finance is concerned with the income  
and expenditure of the Government. 

GIVra 	cd9919Q'9 Elikl (3 9404 Q1i9 Weig 

(n) Income from public enterprises is an 
administrative revenue. 

Q199191 969419g ala 	gacgIQ 919q I 

(o) Surplus budget is one in which proposed  
expenditure is greater than anticipated 
revenue. 

QW1 9699 W9 912i, sodas@ ggi ,9 Qiha cz4 iQ4   
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Group — B 
— §Qici 

3. Answer any eleven of the following questions 

within two to three sentences in each case : 
2 x11 =22 

g694Q 6kig,GQ 2oN 	04.160 c"A)- 19 

gqc119G° 4Ri2 sosQlel 	47620 	: 

(a) What do you understand by Giffen goods ? 

OCCIV 2Q11 c 64n1 qco 9'0 	? 

(b) What is demand schedule ? 

9&"Q1 	Q'e ? 

(c) What are necessaries ? 

3941Qt14G?6P9 9'61 ? 

(d) What is time utility ? 

919619 4s14]6kA91 9'0 ? 

(e) What is explicit cost ? 

saj,Q,Ig 	9'0? 

(f) What is pure competition ? 

OGZIgigl 9'61 ? 

(g) What is net interest ? 

clei 9'61? 

(h) What is normal profit ? 

91c1KIQ GlIQ 9'61? 

What is domestic product ? 

4;JG61IQ QC41Q Q'61 ? 

What is transfer income ? 

agQe act 	? 

What is near money ? 

"QG' 41 9'61 ? 

What is tax ? 

Q6/ Q'61 ? 

(m) What is developmental expenditure ? 

IRra9c19Q 940 9'61? 

(n) What is budget ? 

9G961  Q'61? 

Distinguish between any six of the following. Limit 
your answer to six sentences in each case : 

3x6=18 
cms? GraGgeQ 	47Ie194 oda I gsg49 

6o '6Q 209 4116261 RE/63 Q16? 1166 'Z111- 9 61 1 1 ZI1Qt14Q : 

(a) Free goods and Economic goods 

99 294 (3 a1e1919 

(b) Change in demand and Change in quantity 
demanded 

91 1 16) 43161Q629 	610Q1 'El&116169 421614169 
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7 	Explain the law of diminishing marginal utility. 

cigmoi9 c211016; 94]GSZI16191 Q Q 11161 111 QQ I 
Explain the Ricardian theory of rent. 

GQIGIQ° aexco 99 Q4161 111 90 I 

(c) Gross profit and Net profit 

6c116' @IQ (3 *61, G1IQ 

(d) Personal income and Disposable personal& 
income 

Q4619 3IQ (3 gq94 Q4619 Ellsa 

(e) Demand deposit and Fixed deposit 

91- Q1 9C1I 	c-'13191 961I 

(f) Direct tax and Indirect tax 

ggio QG (3 0691k1 961 

(g) Commercial bank and Central bank 

QI -&119 Q41Q (3 G9gra 94Q 

(h) Plan expenditure and Non-plan expenditur 

6ZII9Q1 Qiira (3 ae-GC1194; I Q40‘ 

Group- C 

- 

Answer any four of the following questions : 
7.5x4=3 

N -ig 	 GoGgel 91662161 Q961 

5. Discuss the characteristics of human wants. 

61l991ra MIQQ 6ft-1 14.46P9 E1IGGII9611 962 I 

6. Explain the determinants of demand. 

91WI9 4 101,6?6PQ Q416141 6?61 I 
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10 . Describe the functions of money. 

cEio Qtraimi Q491 QQ I 

9. 	Explain the output method of calculation of 
National income. 

QQIQ Clq- 661 9101Q Elba 9091 941S1 111 99 I 
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